{6.12.2020 (Qa('lg.b gecced Q\,~o~.rw\9_
@ & — QQ@
\ 2

:

A% g\,$2 ,§3 =T {0,15
Elifife siisses S, =5.85,®5:
4 go,g‘)§27g7§>
ISNEEE NN EERE
\ 50:: §‘®§Z® Qs\ rﬁ‘}
H EEEEEEEEEAEEREEa:
(D H(Qo\g‘sz,%;\: O 401@)‘
OV (%16, 55)= k(S alis 3
V\@'43> 1D o<
\’t (g-a \S(_B :\'\ (QOB ! Uf‘?

e —

( go)g\)gy_-,g >
X Q> k (QO\ Q(QJD - “ (go\ g g%§ H (go gag%\ O
(D RIS = k(515 =1 (515 = U(SH)

Seibhdih R et
@D i



.
l-g (f\:&'Xt@ l\é/

ol 'Z/?E
e a-ok:C,:?\@ O K X3 Ra
¢, = G-/l = Q("& ¥ Lalb?—> <65, ,Q,)QZ §}>
%2_ = ’{(7(4) : f
Sq =4 Y £S:6D = (ef)— So=4(0)
S: Co
' v TR A P
G 1B
S5y X T T e
. Qo \= X
(‘) W (§0\§¢ - cb O FeE: 4 [7()
(23 \'\(Qo\%l \ H(S> /!9{_ 1
_Q()é: Qe+ Q)X *... //\ Z/()l
“ieﬁ/\vl
dea(H2 -\ Tk/—ﬂk
: S, =4 (0 > *
” {3 f <0 @Cf)
So =4 (o)

\M‘”%



A\



T\(\'Q/,o\"(é de €' tndo algoc damic e




Dorwe @aw&\,ﬂ. AL (\(—d‘a.r.
C P> X > LB =X
Def G0 = v 4191 LOPY=R S

% Ay oleetoit L St CLG() < |X|

X XX %X
ST 00w M x RA
i Vi N WV V)

CL(xxﬁx) At 5V



L‘ 5 {o\\\* — );0,\\\)‘ »pow chion el el le

((’arkLUL>
/ oo ai NP LT X

]}i L <L i Jd

\ % ‘C(@gC(x)—ro\
s

e existe Lo £ L
[4L S

bﬁ-?q C (?S B C,L<2<> Cov~ Qe,xc\'l—/c AL

Ro W\ 0 %0 CoV

T
SEasasane
Py L,
()L L;

P Ly

& L
(o (b



\_/m_‘r-— > (_,,—l
v {
C(n & C (x) gt aw“&
g

b
W) O HIE) ‘

\Qﬁi I &o\l‘s**@.\‘;* > 4o \\ (ealonlelle )
1 CL\(7“‘3>: W\W\)\\\‘)\ L l:(?)‘ép—.:)\k

a»-f—m«

bl e A N Cﬁ'g%\a\é Ctz(v\\;;%&

O—

\NE —‘M—i\* 1.9 yé: Ll\v‘{ /_Ji
Nk C ety o= C (1D

¥
i



Prﬁ@bﬂ\w
@ -_3& Vxe’\o\\‘? C (7(3 f h(\ "'A

| print "ann 251l

L

Ix)\
[, i PP
(ﬂ) = [%\
y

Sk A

e o ¢ GO +d = b
La‘* [q&

(D 74 Vxeda ¥ C(xx)€ 1) v

LSP: P PR
Cl(xx) — h(\ 9_3(;1\ ':'X o)
sp [3\3’. 5(\’—"’ ol

1& C (¥X> z C CXA &-A\ £ (¥ ‘t‘&
L Lg
opt P






B

NSNS,
1 @ 00 A U Olloo,,.\L\_:n\(/_;ﬁ
L tkgi{ (\/ A | N
L
\/_\/_\/

ﬁ) W ’fl-\'l
C, (x- ~K) 4 ;zréaﬁv:\ ~) A 1%\ 6-2(’05 x %

L T + P VS
- (& @’
-:53& Nr C (ﬁ’_v_:f\ 4 CL(X...ﬁ\rdé \p\—vz_ av\

Co\t



R N : “0“
@ wejietos po 0

. -PH» 1

C(AA P(ol—-\-(\?\% \‘(\‘\'0&’6 \

L |\oooon n 1\0000\\ . 000 W
Ginled 73’&?(?“\
\/
m V\
2 foog
P"\
e e



e e ¥w  pewr 8% de x€ i )

\, we 006 ényC
ITh CO)watpt alolidle
b S TE

bong WY1 aneC



Memvon:  d Y (o (‘Q \2((6") YM(Z\°Q

Robuwsgocor M T heghS CL -CG1

QRTINS _’;1& V= T
_\4(m\& ) -RE,0)

Th \I (% ‘(\\ /'_Y_(a !7<>\{~_ O(@oéN>

\la(woéocov "
N = l%\‘\"d\

T (20— @+~ (8Y

¢ Olteyn)
N =¥ -\’\‘6\ %

1S /o1

J}l(olll Howme awos |- C)'a Ql/\l L=

1S/ o4



